a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
w

Vertex z (cm)

£ EE
= =2 [
R g L
= 2 L
© o
>
5
10? © 192k
: 5 102
S
: s [
EE TTURRRRE < L
ke S
: : : S I
9 1.Uof 4 T T 9 3
g 1 T T j
e + MIE :
ookt TV ElEE G T &ls :
=20 -15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm)
Global_cmSSWI000UmMe__RECO

UéIVI VUUUL RUUUUUUUUTL

M~_V0001R000000001"_Global__mkFitNewOLD1000time_RECO
M~—V0001_R000000001__Global_mkFitNewBins2DC1000time__RECO

10°E:

10

SRR SRR 0, DU ¢ 3 I R
-20 -15-10 -5 0 5 10 15 20
Vertex z (cm)

10%[:

16 15 20
Vertex z (cm)

o(0y) (um)

Ratio

0(0 z) (M)

Ratio

102

0 =16 =10 5 0 B

10 15 20
Vertex z (cm)

10°E

10?

L.UD!

0.95;

0-15-10 -5 0 5 10 15 20

Vertex z (cm)

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

20 =15 -10 =5 0 5 10 15 20
Vertex z (cm)

10°

10°E

-20 -5 -10 -5 0 5 10 15 20
Vertex z (cm)



	Contents
	Page 1


